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Arithmetic of Integer Exponents

(−6) + 4 =2 (−1) − (−7) =0

2 − 6 =2 2 + 6 =3

(−6) + (−4) =3 5 − 3 =

(−9) + (−2) =2 (−6) + (−6) =2

6 + (−1) = (−8) − (−4) =2

(−8) + 7 =3 (−5) − 7 =0

(−3) − (−5) =0 (−8) − 4 =

6 + 1 = 5 − (−9) =3

(−8) − 6 =2 1 − (−3) =3

2 − 7 = 6 + 4 =2
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Arithmetic of Integer Exponents

(−6) + 4 = 402 (−1) − (−7) = 80

2 − 6 = (−2)2 2 + 6 = 143

(−6) + (−4) = (−220)3 5 − 3 = 2

(−9) + (−2) = 792 (−6) + (−6) = 302

6 + (−1) = 5 (−8) − (−4) = 682

(−8) + 7 = (−505)3 (−5) − 7 = (−6)0

(−3) − (−5) = 60 (−8) − 4 = (−12)

6 + 1 = 7 5 − (−9) = 1343

(−8) − 6 = 582 1 − (−3) = 43

2 − 7 = (−5) 6 + 4 = 402
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